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QUESTION 1

Your customer is interested in implementing revision control for the finished goods model items. Which two
requirements can be met by implementing revision control? (Choose two.)

A. Changing model functionality when on-hand quantity is available

B. Tracking design changes in other modules (BOM, Work in Process) with a different model number

C. Scrapping the old model and introducing a new model which has changes in functionality and features
D. Accommodating a slight design change in the model, where functionality and features remain the same

E. Tracking design changes in all other functions, such as Bill of Materials, Routings, Work in Process, and so on, using
the same model number

Correct Answer: DE

QUESTION 2

You are moving items from locator A to locator B within the same Inventory organization. Which two types of inventory
transactions are required? (Choose two.)

A. Move Order

B. Locator transfer

C. Subinventory transfer

D. WIP component Issue

E. Miscellaneous Receipt

F. WIP assembly completion

G. Interorganization transfer direct

Correct Answer: AC

QUESTION 3

Which two parameters facilitate cross organization reports In a Multi-Org environment? (Choose two.)
A. Ledger

B. Legal Entity

C. Operating Unit

D. Reporting Level
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E. Reporting Context

Correct Answer: DE

QUESTION 4

Identify three features of a Balancing Entity. (Choose three.)

A. Balance sheets are prepared for a Balancing Entity.

B. A Legal Entity may comprise one or more than one balancing segments.

C. Multiple Balancing Entities within the same Operating Unit structure is not supported.

D. A Balancing Entity is represented as a balancing segment value in the accounting flexfield structure.

E. Oracle E-Business Suite Release 12 automatically secures balancing segment values within your chart of accounts
with specific Legal Entities or Operating Units.

Correct Answer. ABD

QUESTION 5

After several cycle counts have been performed, the client wants to identify those items that consistently require
adjustment.

Which report will help the client identify those items?
A. Cycle Count Listing

B. Cycle Count Hit/Miss Analysis

C. Cycle Count Unscheduled Items Report

D. Cycle Count Entries and Adjustments Report

Correct Answer: D
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